B.A. Program 3rd Semester Examinations, 2023
Under Old Syllabus

PHILOSOPHY
INDIAN ETHICS
SEC-1

Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

1. Answer any one question from the following: 15x1 =15
e @-@H 9316 2vee Teg ies
(a) “Truth is God” — Explain the statement following Mahatma Gandhi. 15
‘) R — TR MACE PR B0 IF O PP 71
(b) Explain Astangika marga. What is its ethical implication? 10+5
SR 5 I F91 @3 0T Sl & 9
(c) Explain the concept of niskama karma as propounded in the Gita. Is niskama 10+5

karma possible without moral value?

Tt spre TR s FeR Rl P 791 3o =7 7ot & e 5 7w ¢

2, Answer any one question from the following: 10x1 =10
afRRe @-@W 93 fp 2z Teq wies
(a) Describe the law of Karma according to Bhagavad Gita. 10
oS! S W A F 1
(b) State and explain the concept of ‘Pafichasila’ as formulated by Buddha. 10
IFCR 2RSS Aeedicera arRetd 10t 39
3. Answer any one question from the following: 5x1=5
e @-@W 93 deeq Teg wies
(a) Explain bondage of the self following Jainism. 5
e o WS R IHT JIY I
(b) Write a short note on Purusartha. 5
a7 TR @3 WFERG Bil @14
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4. Answer any fen questions from the following:

fasflRe @-@W ™% a4rea Tea wies

(a) What is Kaivalya according to Jaina?
TR WS (e fF 9
(b) What is the meaning of “Jin’?
‘o *itwea o & 9
(c) What is ‘Brahmavihar’?
ERISRER
(d) Who is ‘Arhat’?
R ?
(e) What is ‘Svadharma’ according to Gita?
Mot s T4 & 2
(f) What do you understand by Mahabrata?
TRIFS F00 & @R 2
(g) What is non-violence in Jainism?
Eae SR & o
(h) What is ‘Sarirvara’ in Jainism?
Ee WIW B o
(i) What is ‘Anubrata’?
o’ & 9
(j) What do you mean by ‘Tripitaka’?
“fafote 2eite & @™l 2
(k) What is Prajiia?
o & 9
(I) What is Sadharana dharma?
Ay f & 9
(m) Mention one characteristic of ‘Sthitaprajiia’.
FHoeer «alb [HER B 391
(n) Mention the Second noble truth of Buddhism.
Qa w7 fadi wiress Bed 331
(o) What do you understand by end in Gandhian Philosophy?
MNAEGR 7o Sroeely Ferce b @R 2
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